FORM 2
GEOGRAPHY
MARKING SCHEME

Answer all the questions in the spaces provided on this paper.

1.  (a)  Name the instruments used to measure the following elements of weather.	
	(i)  Air pressure 								(1 mk)
		- Mercury barometer
		- Aneroid barometer

	(ii) Duration of sunshine 							(1 mk)
		- Campbell stokes sunshine Recorder.

     (b)  Briefly explain how relative humidity is calculated.				(2 mks)

	- By getting the difference between the temperature of the wet bulb and the 
	  temperature of the dry bulb thermometers, then reading the Humidity from the table.  

	- Can also be calculated as a percentage.

2.  (a)  Give two examples of extrusive igneous rocks.				(2 mks)
	- Pumice
	- Tuff
	- Basalt
	- Obsidian
	- Andesite

     (b)  Name the type of changes undergone by rocks in metamorphism.		(2 mks)
	- Physical changes
	- Chemical changes

3.  (a)  Identify the factors which influence folding.					(2 mks)
	- Intensity of the forces in the process i.e weak or strong
	- Nature of the rock material affected by the forces.

     (b)  Apart from Fold Mountains, name two features resulting from folding.	(2 mks)
	- Escarpments 
	- Synclinal valleys and depressions
	- Intermontane plateaus
	- Intermontane basins
4.  (a)  Mention two modern methods of showing direction.				(2 mks)
	- By the use of the compass
	- By the use of bearings.

     (b)  What is magnetic variation?							(1 mk)
	-This is the angle formed between the true north and magnetic north.


     (c)  Other than the Equator, name three other important latitudes.		(3 mks)
	- Tropic of Cancer 23 ½ oN
	- Tropic of Capricorn 23 ½ oS
	- Arctic circle 66 ½ o N
	- Antarctic circle 66 ½ oS

5.  The diagram below is an illustration of the grid reference system.  Use it to answer the 
     questions that follow.
[image: ]
     (i)  What is the name given to the lines numbered 45 – 51?			(1 mk)
	- Eastings
      (ii)  Give the four figure grid reference of points Q and R.			(2 mks)
		- Q = 4823
		- R = 5025
     (iii)  Give six figure grid reference of points P and R.				(2 mks)
		- P = 475243
		- R = 500258

6.  Study the table below and use it to answer the questions that follow.
VALUE OF EXPORTS FROM (KSH MILLION)

	CROP
	1997
	1998
	1999
	2000
	2001

	Tea
	24000
	33000
	33000
	35000
	34000

	Coffee
	17000
	13000
	12000
	12000
	7000

	Horticulture
	14000
	15000
	18000
	21000
	20000

	Tobacco
	2000
	2000
	2000
	2000
	3000

	Total
	57000
	63000
	65000
	70000
	64000


Using a vertical scale of 1cm to represent 5 billion, draw a comparative line graph to present the above data.  Use the graph paper provided.						(7 mks)
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